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Abstract: This contribution proposes a new use case for MUSIM of different PLMNs coordination for the same application service.


Begin Change

5.Y	Supporting MUSIM of different PLMNs coordination for the same service
[bookmark: _Toc355779204][bookmark: _Toc354586742][bookmark: _Toc354590101]5.y.1	Description
One terminal can have two sim card belong to different PLMNs. The UE may access one edge service which requires for large bandwidth (e.g. interaction high-definition movie requires for 1Gbit/s). One sim bandwidth cannot guarantee the service bandwidth, but total bandwidth of two sims is enough for the service. In this situation, the two PLMN shall be able to coordination for the service quality assurance.
SIM 1
Interaction HD movie
SIM 2

[bookmark: _Toc355779205][bookmark: _Toc354586743][bookmark: _Toc354590102]5.y.2	Pre-conditions
[bookmark: _Toc355779206][bookmark: _Toc354586744][bookmark: _Toc354590103]Harry has one mobile phone with two sim cards. SIM 1 belong to PLMN A and SIM 2 belong to PLMN B. He is in the place where PLMN A and PLMN B can provide service. Harry tries to see the interaction HD movies which requires for high bandwidth. PLMN A and PLMN B cannot meet the requirement respectively, but total bandwidth of PLMN A and PLMN B can meet the requirement. AF is aware of the fact that the two SIMs are in the same one terminal and is aware of SLA of PLMN A and PLMN B. 
5.y.3	Service Flows
1.Harry opens the application to see interaction HD movies with sim 1 of PLMN A.
2.AF receives request of Harry. AF finds that bandwidth of sim1 cannot meet the service requirement. It also knows that there are two sims in the terminal, and the total bandwidth of sim 1 and sim 2 can meet the requirement. AF sends the coordination indicator to PLMN A and PLMN B respectively.
3.PLMN A and PLMN B receive the coordination indicator and reference bandwidth. They generate policy including coordination part and perform the policy to archive the total bandwidth to assure the quality of application service.
4.Harry see the movie and interact with application smoothly.
[bookmark: _Toc355779207][bookmark: _Toc354586745][bookmark: _Toc354590104]5.y.4	Post-conditions
Harry could see the HD movies and interact with application with good experience.
[bookmark: _Toc355779209][bookmark: _Toc354586747][bookmark: _Toc354590106]5.y.5	Existing features partly or fully covering the use case functionality
none
5.y.6	Potential New Requirements needed to support the use case
[bookmark: _GoBack][PR 5.Y.6-1] The 5G system shall provide the capability of service coordination between two PLMNs within one UE.
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